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Test Series: April, 2019 

MOCK TEST PAPER – 2 

FINAL (NEW) COURSE: GROUP – I  

PAPER – 1: FINANCIAL REPORTING 

Question No.1 is compulsory.  Candidates are required to answer any four questions from 

the remaining five questions. 

Wherever necessary, suitable assumptions may be made and disclosed by way of a note. 

Working notes should form part of the answers. 

Time Allowed – 3 Hours Maximum Marks – 100 

1. The balance sheet of P Ltd. and D Ltd. as of 31st March, 20X2 is given below: 

Assets P Ltd. D Ltd. 

Non-Current Assets:     

 Property, plant and equipment 300 500 

 Investment 400 100 

Current assets:     

 Inventories 250 150 

 Financial assets   

  T rade receivables 450 300 

  Cash and cash equivalents 200 100 

  Others 400 230 

Total  2,000 1,380 

Equity and Liabilities     

Equity     

 Share capital- Equity shares of Rs. 100 each 500 400 

 Other Equity 810 225 

Non-Current liabilities:     

 Long term borrowings 250 200 

 Long term provisions 50 70 

 Deferred tax 40 35 

Current Liabilities:     

 Short term borrowings 100 150 

 Trade payables    250    300 

Total  2,000 1,380 
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Other information 

(a) P Ltd. acquired 70% shares of D Ltd. on 1st April, 20X2 by issuing its own shares in the 
ratio of 1 share of P Ltd. for every 2 shares of D Ltd.  The fair value of the shares of P Ltd. 

was Rs. 40 per share. 

(b) The fair value exercise resulted in the following: (all nos in Lakh) 

a. Fair value of PPE on 1st April, 20X2 was Rs. 350 lakhs. 

b. P Ltd. also agreed to pay an additional payment as consideration that is higher of  
35 lakh and 25% of any excess profits in the first year, after acquisition, over its 
profits in the preceding 12 months made by D Ltd.  This additional amount will be 
due after 2 years. D Ltd. has earned Rs. 10 lakh profit in the preceding year and 
expects to earn another Rs. 20 Lakh. 

c. In addition to above, P Ltd. also had agreed to pay one of the founder shareholder a 
payment of Rs. 20 lakh provided he stays with the Company for two year after the 
acquisition.  

d. D Ltd. had certain equity settled share based payment award (original award) which 
got replaced by the new awards issued by P Ltd.  As per the original term the vesting 
period was 4 years and as of the acquisition date the employees of D Ltd. have 
already served 2 years of service.  As per the replaced awards the vesting period 
has been reduced to one year (one year from the acquisition date).  The fair value 
of the award on the acquisition date was as follows: 

i. Original award- Rs. 5 lakh 

ii. Replacement award- Rs. 8 lakh.  

e. D Ltd had a lawsuit pending with a customer who had made a claim of Rs. 50 lakh. 
Management reliably estimated the fair value of the liability to be Rs. 5 lakh. 

f. The applicable tax rate for both entities is 30%. 

You are required to prepare opening consolidated balance sheet of P Ltd. as on  

1st April, 20X2.  Assume 10% discount rate.  (20 Marks) 

2. (a) On 1st April, 2017, J Ltd. began to lease a property on a 20-year lease.  J Ltd. paid a lease 
premium of Rs. 30,00,000 on 1st April, 2017.  The terms of the lease required J Ltd. to 

make annual payments of Rs. 500,000 in arrears, the first of which was made on  

31st March, 2018. 

On 1st April, 2017 the fair values of the leasehold interests in the leased property were as 

follows: 

– Land  Rs. 30,00,000. 

– Buildings  Rs. 45,00,000. 

There is no opportunity to extend the lease term beyond 31 st March, 2037.   

On 1st April, 2017, the estimated useful economic life of the buildings was 20 years. 
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The annual rate of interest implicit in finance leases can be taken to be 9.2%.  The present 

value of 20 payments of Re. 1 in arrears at a discount rate of 9.2% is Rs. 9. 

Required: 

Explain the accounting treatment for the above property lease and produce appropriate 

extracts from the financial statements of J Ltd. for the year ended 31st March, 2018. 

 (12 Marks) 

(b) On 5th April, 20X2, fire damaged a consignment of inventory at one of the Jupiter’s Ltd.’s 
warehouse.  This inventory had been manufactured prior to 31 st March 20X2 costing  

Rs. 8 lakhs.  The net realisable value of the inventory prior to the damage was estimated 
at Rs. 9.60 lakhs.  Because of the damage caused to the consignment of inventory, the 
company was required to spend an additional amount of Rs. 2 lakhs on repairing and re-

packaging of the inventory.  The inventory was sold on 15 th May, 20X2 for proceeds of  

Rs. 9 lakhs. 

The accountant of Jupiter Ltd. treats this event as an adjusting event and adjusted this 

event of causing the damage to the inventory in its financial statement and accordingly 

re-measures the inventories as follows:         Rs. lakhs 

Cost 8.00 

Net realisable value (9.6 -2) 7.60 

Inventories (lower of cost and net realisable value) 7.60 

Analyse whether the above accounting treatment made by the accountant in regard to 
financial year ending on 31.0.20X2 is in compliance of the Ind AS.  If not, advise the 

correct treatment alongwith working for the same.  (8 Marks) 

3. (a)     Either 

A parent purchased an 80% interest in a subsidiary for Rs. 1,60,000 on 1 April 20X1 when 

the fair value of the subsidiary’s net assets was Rs. 1,75,000.  Goodwill of Rs. 20,000 
arose on consolidation under the partial goodwill method. An impairment of goodwill of 
Rs. 8,000 was charged in the consolidated financial statements to 31 March 20X3.  No 

other impairment charges have been recorded.  The parent sold its investment in the 
subsidiary on 31 March 20X4 for Rs. 2,00,000.  The book value of the subsidiary’s net 
assets in the consolidated financial statements on the date of the sale was Rs. 2,25,000 

(not including goodwill of Rs. 12,000).  When the subsidiary met the criteria to be classified 
as held for sale under Ind AS 105, no write down was required because the expected fair 

value less cost to sell (of 100% of the subsidiary) was greater than the carrying value. 

The parent carried the investment in the subsidiary at cost, as permitted by Ind AS 27.  

Calculate gain or loss on disposal of subsidiary in parent’s separate and consolidated 

financial statements as on 31st March 20X4. 
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Or 

Bright Ltd. acquired 30% of East India Ltd. shares for Rs. 2,00,000 on 01-06-20X1.  By 
such an acquisition Bright can exercise significant influence over East India Ltd.  During 
the financial year ending on 31-03-20X1 East India earned profits Rs. 80,000 and declared 

a dividend of Rs. 50,000 on 12-08-20X1.  East India reported earnings of Rs. 3,00,000 for 
the financial year ending on 31-03-20X2 and declared dividends of Rs. 60,000 on  

12-06-20X2. 

Calculate the carrying amount of investment in: 

(i) Separate financial statements of Bright Ltd. as on 31-03-20X2; 

(ii) Consolidated financial statements of Bright Ltd.; as on 31-03-20X2; 

(iii) What will be the carrying amount as on 30-06-20X2 in consolidated financial 

statements? (6 Marks) 

(b) ABC Ltd. has taken a loan of USD 20,000 on April 1, 20X1 for constructing a plant at an 

interest rate of 5% per annum payable on annual basis.  

On April 1, 20X1, the exchange rate between the currencies i.e USD vs Rupees was  
Rs. 45 per USD. The exchange rate on the reporting date i.e March 31, 20X2 is  

Rs. 48 per USD. 

The corresponding amount could have been borrowed by ABC Ltd. from State bank of 

India in local currency at an interest rate of 11% per annum as on April 1, 20X1.  

Compute the borrowing cost to be capitalized for the construction of plant by ABC Ltd. 

 (8 Marks) 

(c) An entity enters into 1,000 contracts with customers.  Each contract includes the sale of 
one product for Rs. 50 (1,000 total products × Rs. 50 = Rs. 50,000 total consideration).  

Cash is received when control of a product transfers.  The entity's customary business 
practice is to allow a customer to return any unused product within 30 days and receive a 

full refund.  The entity's cost of each product is Rs. 30. 

 The entity applies the requirements in Ind AS 115 to the portfolio of 1,000 contracts 

because it reasonably expects that, in accordance with paragraph 4, the effects on the 
financial statements from applying these requirements to the portfolio would not differ 
materially from applying the requirements to the individual contracts within the portfolio .  

Since the contract allows a customer to return the products, the consideration received 
from the customer is variable.  To estimate the variable consideration to which the entity 
will be entitled, the entity decides to use the expected value method (see paragraph 53(a) 

of Ind AS 115) because it is the method that the entity expects to better predict the amount 
of consideration to which it will be entitled.  Using the expected value method, the entity 

estimates that 970 products will not be returned. 
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 The entity estimates that the costs of recovering the products will be immaterial and 

expects that the returned products can be resold at a profit. 

 Determine the amount of revenue, refund liability and the asset to be recognised by the 

entity for the said contracts.   (6 Marks) 

4. (a) Ankita Holding Inc. grants 100 shares to each of its 500 employees on 1 st January, 20X1. 
The employees should remain in service during the vesting period. The shares will vest 

at the end of the  

First year  if the company’s earnings increase by 12%; 

Second year if the company’s earnings increase by more than 20% over the two -year 

  period;  

Third year if the entity’s earnings increase by more than 22% over the three-year 

  period.   

The fair value per share at the grant date is Rs. 122. In 20X1, earnings increased by 10%, 
and 29 employees left the organisation.  The company expects that earnings will continue 
at a similar rate in 20X2 and expects that the shares will vest at the end of the year 20X2. 

The company also expects that additional 31 employees will leave the organisation in the 
year 20X2 and that 440 employees will receive their shares at the end of the year 20X2. 
At the end of 20X2, company's earnings increased by 18%. Therefore, the shares did not 

vest. Only 29 employees left the organization during 20X2. Company believes that 
additional 23 employees will leave in 20X3 and earnings will further increase so that the 
performance target will be achieved in 20X3. At the end of the year 20X3, only 21 

employees have left the organization. Assume that the company’s earnings increased to 

desired level and the performance target has been met. 

 Determine the expense for each year and pass appropriate journal  entries?   (12 Marks) 

(b) Calculate Subsidiary’s and Group’s Basic EPS and Diluted EPS, when 

Parent: 

Profit attributable to ordinary equity 

holders of the parent entity 

Rs. 12,000 (excluding any earnings of, or 

dividends paid by, the subsidiary) 

Ordinary shares outstanding 10,000 

Instruments of subsidiary owned by 
the parent 

800 ordinary shares 

30 warrants exercisable to purchase ordinary 
shares of subsidiary 

300 convertible preference shares 

Subsidiary: 

Profit Rs. 5,400 

Ordinary shares outstanding 1,000 
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Warrants 150, exercisable to purchase ordinary shares of 
the subsidiary 

Exercise price Rs. 10 

Average market price of one 

ordinary share 
Rs. 20 

Convertible preference shares 400, each convertible into one ordinary share 

Dividends on preference shares Re 1 per share 

No inter-company eliminations or adjustments were necessary except for dividends. 

Ignore income taxes.  Also, ignore classification of the components of convertible 

financial instruments as liabilities and equity or the classification of related interest 
and dividends as expenses and equity as required by Ind AS 32. 

   (8 Marks) 

5. (a) On 1st April, 2014, Shelter Ltd. issued 5,000, 8% convertible debentures with a face value 

of Rs. 100 each maturing on 31st March, 2019.  The debentures are convertible into equity 
shares of Shelter Ltd. at a conversion price of Rs. 105 per share. Interest is payable 
annually in cash.  At the date of issue, Shelter Ltd. could have issued non-convertible debt 

with a 5 year term bearing a coupon interest rate of 12%.  On 1st April, 2017, the 
convertible debentures have a fair value of Rs. 5,25,000.  Shelter Ltd. makes a tender 
offer to debenture holders to repurchase the debentures for Rs. 5,25,000, which the 

holders accepted.  At the date of repurchase, Shelter Ltd. could have issued non-

convertible debt with a 2 year term bearing a coupon interest rate of 9%. 

 Show accounting entries in the books of Shelter Ltd. for recording of equity and liability 

component: 

(i) At the time of initial recognition and 

(ii) At the time of repurchase of the convertible debentures. 

The following present values of Rs. 1 at 8%, 9% & 12% are supplied to you: 

Interest Rate Year 1 Year 2 Year 3 Year 4 Year 5 

8% 0.926 0.857 0.794 0.735 0.681 

9% 0.917 0.842 0.772 0.708 0.650 

12% 0.893 0.797 0.712 0.636 0.567 

  (12 Marks) 

(b) B Limited is a newly incorporated entity. Its first financial period ends on March 31, 20X1. 

As on the said date, the following temporary differences exist: 

(a) Taxable temporary differences relating to accelerated depreciation of Rs. 9,000.  

These are expected to reverse equally over next 3 years. 
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(b) Deductible temporary differences of Rs. 4,000 expected to reverse equally over next 

4 years.  

It is expected that B Limited will continue to make losses for next 5 years. Tax rate is 30%. 
Losses can be carried forward but not backwards. 

Discuss the treatment of deferred tax as on March 31, 20X1 .  (8 Marks) 

6. (a) (i) When an entity is required to form a CSR committee? 

(ii) ABC Ltd. is a company which has a net worth of INR 200 crores, it manufactures 

rubber parts for automobiles.  The sales of the company are affected due to low 

demand of its products.  

The previous year’s financials state:                     (INR in Crores) 

 March 31, 20X4 
(Current year) 

March 31, 
20X3 

March 31, 
20X2 

March 31, 
20X1 

Net Profit 3.00 8.50 4.00 3.00 

Sales (turnover) 850 950 900 800 

Does the Company have an obligation to form a CSR committee since the applicability 

criteria is not satisfied in the current financial year?  (8 Marks) 

(b) Himalaya Ltd. which is in a business of manufacturing and export of its product.  

Sometimes, back in 2016, the Government put restriction on export of goods exported by 
Himalaya Ltd. and due to that restriction Himalaya Ltd. impaired its assets. Himalaya Ltd.  
acquired identifiable assets worth of Rs. 4,000 lakhs for Rs. 6,000 lakh at the end of the 

year 2012.  The difference is treated as goodwill.  The useful life of identifiable assets is 
15 years and depreciated on straight line basis.  When Government put the restriction at 
the end of 2016 the company recognised the impairment loss by determining the 

recoverable amount of assets for Rs. 2,720 lakh.  In 2018, Government lifted the 
restriction imposed on the export and due to this favourable change, Himalaya Ltd. re -

estimate recoverable amount, which was estimated at Rs. 3,420 lakh. 

Required:  

(i) Calculation and allocation of impairment loss in 2016. 

(ii) Reversal of impairment loss and its allocation as per AS 28 in 2018. (12 Marks) 
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